—  Do\uTlaNS — FALL 2005

MATH 3V — \r\omewo(‘K £\3

Sec 3.4 |
\ p-132 Y| G\\IQV\% \Jec&’o( ;\Q\A . \/\2\_%
2o (exx@VR D
-

W AT W v
aE3

Q\IO\\\)O\ X &;1 .




Matt 3\ —  HNemewor € A\ — SowTlensy — Fa\l 2005 @

Sec 3.\\ | _v?
l 0 \32 w9 !(o\) Con oo Gind oo vodor Lie\d Whose wel i 17
(\CQ (_/OJV\ e ! AN I €« | ( ¢ ! X;\;f
2
(S = -
() lmkiny for FT T £) sk wlFe 3R
<5 sec\ Ca\d ooy s Tl C
= N
Q%= _ 3% 4 @QE,Q\_—J é_;(?:__g_\
@ 3?33 QA E ay 2 )
A\ No pessS owd oW\ o\/\Qka Q’V\g gse Y @@
We Wi\ "‘3’\@ O’Y(ox%/—') 5o\ :;:\ = \/\5:2: \
Lo j@é( %\,,1@ 3% & ?l: Z(_l-é N C’_\U}ll\
Non EAE ) \<\5?eo\v o 2
Q
Q% Ky~ SiES 4% T = 759‘_1 ¥ (2(“3,%\
T = ™
e @\'OU( \V\QM& on Q\)Cl

e © Yo fry %C\

e, L A7+ G %—%Q&w,ﬂ«» %\Clm\z\;é




\;’\i\TH 3 - Homework 13 — So\ujﬂ‘ows — %l 2009 €

@ (b) COA/\ we WQQQO‘\XY C—$$Uwﬁv‘3 *L\K5 x‘(\/st CO(’\E: X,?A
i This Hne

D 3 _Dmax @ 95.3wm @3N
ag“az ay 9% X Y

Deaund C\\)Q5§ F’\ :XV}% N @ (&) << \M
N ‘ rd
N QQ’(‘_\( Q)\) :\lfl - % - Q\Cm‘@

F,,)—; X_ZZ_") + C‘Z(V]\:Zl\

of( @\/\\ﬂ/)

Yads Qvo\o\QW\ . @ o (3 \‘W\Q\“&’
gﬁ Ay + G(9,2)

,ﬁ
(

2 2
- (2w Co(y2 with esped Yo
g, = (28, ~ ©OR) T cerg RN

we gk o _ (I8 41304

1T . %) o5t
S 3
e _ %;%Sﬁ;l W 62) g hold 19
Az 923y 22 SQV\QTO\\ .



MATH 311 - Howewor 13 — Solubious- T\ 2005

Wae ore QS\V\B -}gso K;Ag§c5 Tk Ov\\v) e lvw& (&

W o590 W\, Xfo \,\,_,.-7 covérwws %Qoovxé/ oV

@o«cx(iox\ &C\x{éﬁ\l\@,ﬁ ’ 3 L
_ ke X
® g.‘ﬁs*;gg@i
5 D37

Q\,Q,( \\(o\\' N\ & " QV\C\Q‘&

Con L2 e &

Gy X \V\\&O\TO}\
S \3& V= 832?\ 3%
o2 a\/\ o2 &\Q
@ \’\\y&L Qg(xv\og\ écwmgm\% b QQ\WQ&
2
ST - 2R
[
3D @V)@%

N

)

\ Y en S g 2)=
\ o \40 %:l Tin d § a Y >(Z‘\-")1+%1 \R\

? 4
vl—g et ;j\_’g/ < gﬂi X %_Z—S:’L %,wam\’)&b( —a’a—\Q\: i— f'if
% K| 2.

ak%%WJ%4£;WHN%¥WWM
% e o T TRIF
AN € - 3= R\ QZE: 39 &\
vy |\ X \Q) 2 an> \RlS
X -2 S A
E ‘ R

=) 2 2 2,92 CA 2
Vo pg. W) 3RU_| =T
~ W 'S o \XVO{N\OV\QC TCUV\C&TM;\ \&\S




—  TOwAwWe 'e
work 13— Solottens =N S
299 S—

~

*SWJV‘(OWS S Q‘gr'(,g ;b&s LQ()\OCQ( S QQ[V\’?O

Sec. 3. G
\P“O%W! Wi of

o Bag - ¢ | T 2
5 IS 3 _ajé _ RSty
I _Cswy 3y
b 32> . . .
2. SE YR Qo - Osiay ¥ =
BS/Q i EILX —;1* 53:1 \a 3
s\ E\ }’es

LKO) STQ‘I\\U\‘—ZA ’:- S™M Y ﬁ\\/\\/\a» 3 (405*@ Jes
B;Lé———. /6\\1\\( SMM& — W9k Qms\l\'é
B . \A%; ﬂ?'%: O
’ \A»\—, ‘7\\/\\'\’53

e go \\ou\fw\}

AW

a,zi - Sin Y (51\4\\\% =
AL - wﬁ\l\% 1.
& - ot o\ ) éﬁ‘\"\‘\% = 3 §
B 9. 5 e &5

- Q+Q SN v\ 5

= 3
¢ ) v x (V§>:D\Ie§ﬁf ) 7 % (,Y{zi) noNn-
() v (v:_gmz_,\l-e&of%m\é,






